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§ Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes
each sentence. Then mark the correct choice on your answer sheet.

1-  What was intended as a peaceful demonstration rapidly -——--—--- into violence.

1) degenerated 2) agitated 3) preceded 4) discriminated
2-  The Democratic Party ---——-—-= 70 pereent of the vote. :

1) esteemed 2) garneret 3) obligated 4) assembled
3- Some animals can -- very high temperatureés.

1) submit 2) detach 3) obstruet 4) withstand
4-  Researchers have discovered that up to one half of all ehildren born of alcoholics are

genetically —-—-—- to alcoholism.

1) apprehended 2) discerned 3) predisposed 4) impressed

Communication via the Internet gives an important to international trade.

1) exposure - 2) dimension 3) expendriure 4) distribution
6- Lack of childcare facilities can be a major for women wishing to work.

1) routine 2) dispute 3) obstacle 4} contraction
7-  Itis a common that women are worse drivers than men.

1) impetus 2) essence 3) fallacy 4) amusement
8- The for using this teaching method is to encourage student confidence.

1) rationale 2) advent 3) authenticity 4) constitution
9-  The degree of punishment should be -- to the seriousness of the crime.

1) receptive 2) inclined 3) prominent 4) proportional
13- Low inflation is the key to —=——-—-- economic growth.

1) congruous 2) sustained 3) extravagant 4) well-disposed

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet.

Commonwealth of Nations 15 an international organization composed of independent states,
all of which were part of the British Empire. It was constituted by the Statute of Westminster,
(11) ~==mmmme- the British Dominions were recognized as ‘autonomous communities’, (12) -—-----
the British Crown. Since 1947, when India chose (13) -—=—----- within the Commonwealth, it
has consisted of an increasing number of republics, so that the role of the British monarch, who
is the head of only seventeen (14) ---------- a total of fifty-three member states, is confined
(15) ~==am=m --- head of the Commonwealth. Given that its member states have little in common
apart from a historical tie to the UK, it has rarely been able to influence world affairs, except
perhaps for its leadership on the international imposition of sanctions upon South Africa.

11- 1) which 2} 50 3) so that 4} in which
12- . 1) bound together by 2) binding together
3) together having bound 4) having bound together
13- 1) remaining 2) to remain 3) for remaining 4) to be remained
14- 1) out of 2) by 3) within 4) outside
15- 1) to who is 2) for 3) to that of 4) that she is
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Part C. Reading Comprehension
Directions: Read the following three passages and choose the best

answer to each question. Then mark the answer on your answer sheet.

Passage 1:
A drawing in the archives of the Hunterian Art Gallery, University of Glasgow
indicates that Mackintosh (1868-1928) designed a concert hall for the city and
submitted it for a competition. The concert hall would have been part of the 1901
Glasgow International Exhibition. The hall had 4,000 seats, was circular in plan and
covered by a vast dome constructed of glass, timber and brick, a concept used for the
London Millennium Dome by Richard Rogers Partnership and Buro Happold (1996-
1999) one hundred years later. It is assumed that Mackintosh was inspired by the
dome of Hagia Sophia in Istanbul. However, like many of his proposals, the scheme
was ahead of its time and was not even short-listed by the selection committee.
It can be inferred from the passage that a concert hall for the ¢ity .............
1) was one of the greatest projects that Macintosh implemented
2} was not a practical idea at the time
3) took one hundred years to build
4) was a project for which several proposals had been put forward
All of the following are mentioned as intended to be employed in the construction
of the concert hall dome EXCEPT .......cee....... y
1) seats 2) glass 3) brick 4) timber
All of the following are FALSE about Richard Rogers Partnership and Buro
Happold EXCEPT that they .............:
1) used a concept for the London Millennium Dome that was ahead of its time
2) operated at a time different from the one when Mackintosh lived and worked
3) used Mackintosh’s plan to carry out their project
4) utilized timber and brick in the eonstruction of the London Millennium Dome
Which of the following can be safely used to refer to most of Mackintosh’s
proposals?
1} Ridiculous 2) Imitative 3) Global 4) Innovative
What did the people on the selection committee do with Mackintosh’s plan?
1) They said it was a copy of the dome of Hagia Sophia in Istanbul.
2) They put it aside for later use.
3) They did not approve it,
4) They rejected it after lengthy deliberation among themselves,
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Passage 2:

Inspired by Nowicki's Raleigh Arena, Le Corbusier's Philips Pavilion and
Saarinen's Hockey Rink, Tange (1913-) with engineers Tsuboi (1907- 1990) and
Kawaguchi (1932-) designed two arenas with concave suspension roofs. The
larger arena, based in plan on two part circles shifted along their axis, had a
stretched roof skin suspended from a central cable installation attached to two
concrete masts, A prestressed steel net with welded steel plates was anchored at the
bottom into a sweeping reinforced concrete support system. The roof had a
streamlined form to avoid the effects of high winds. Special devices were used soch as
rotary saddles, universal joints and oil dampers. The smaller arena, with a circular
plan, had a suspended roof held by a single cantilevered mast. The roof, with a
spiraling roof light, was clad internally in timber.

Tange and Tsuboi worked together on Ehine Prefectural Hall (1952) with an inclined
shallow spherical shell roof, Hiroshima Children's Library (1953) with an inverted
cone shell roof, Shizuoks Sumpu Keikan Hall (1958- 1960) with a hyperbolic
peraboloid shell roof and St Mary's Cathedral, Tokyo (1962-1965) that had eight
hyperbolic paraboloid sheil walls,

What is the subject of the first paragraph?

1) Tange’s life and work 2) Two arenas

3) Suspension roofs 4y Those who inspired Tange

The central cable installation was something ...........

1) supported by a stretched skin roof 1} that llecl two concrete masts together
3) forming part of the smaller arena 4) from which a roof skin hung down
The word “streamlined™ in line 8 is closest in meaning to ................

1) smooth 2) aerodynamic 3) steep 4) polished

All of the following are true about the roof in the smaller arena EXCEPT that it
Was ...... .

1) covered with timber from the outside

2) with a spiraling roof light

3) a suspended one

4) kept in place by a single cantilevered mast

It can be inferred from the passage that ...............

1) Tange and Kawaguchi are still alive

2) Tange and Kawaguchi did not like to work together

3) Tange was an engineer

4) Tange was not familiar with any of Nowicki’s projects

According to the passage, Shizouka Sumpu Kaikan Hall’s roof is ..........
1) a hyperbolic paraboloid shell one 2) an inverted cone shell one

3) a concave suspension one 4) a shallow spherical shell one



27-

28-

29-

30-

& . . e * oo €6 T - ;
AAYITA ﬁé.‘.&‘."’.!‘“"ﬁw O30 3] e Colw g P gy il

Passage 3:

only a
addressed. The bu program at the very beginning must establish the owner's limits
of cooperation with to
decisions can have influence on architectural

design as
the least impact, in tum can drive up costs and make the project economically

The word “others™ in line 4 refers to ............. .
1} regulations 2} owners 3) sums 4) localities
The passage calls attention to ..............

o —

1) the reasons why some owners readily spend money to tackle physical and biological

degradation
2) the impact the owner’s decisions can have omarchitectural design
3) certain negative aspects of construction work that should be dealt with

4) the necessity of having owners comply with laws and regulations covering environmental

impact

It can be inferred from the passage that addressing environmental impact ........

1) is not effective because it only covers large localities

2) seems to be the cause of difficulties in urban life

3) may sometimes be financially impractical

4) can only be achieved through encouragement rather than tougher laws
Which of the following is referred to as a community impact?

1) Owner’s limits of cooperation

2) Population density

3) High construction costs

4) Owner’s unwillingness to mitigate Tmpact
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